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BSZ/10/13
B.Sc. ZOOLOGY
THIRD SEMESTER SET
FUNDAMENTALS OF BIOCHEMISTRY A
BSZ-303
[USE OMR SHEET FOR OBJECTIVE PART]
Duration: 3 hrs. Full Marks: 70
(Obisins)

Time: 30 mins. Marks: 20
Choose the correct answer from the following: IX20=20

1. Solution that have more hydrogen ion than water are called as:

a. Acid b. Base
¢. Buffer d. Salt
2. The number that describe the acidity of a particular molecule is called as:
a. ptl b. Buffer
¢. pKa d. Alkali
3. On the basis of titration where a pH indictor shows equivalence, that state is called as:
a. Neutral state b. Transition state
c. Alkaline state d. Acidic state

4. A mixture of weak acid and conjugate base is called as:

a. Alkaline solution b. Acidic solution
¢. Inorganic buffer d. pHl indicator
5. The numbers of substrate molecule converted into product per active site of enzyme in
one second is called:
a. Turnover number b. 2 Vmax
¢. Km d. Vmax
6. When fat is shaken with water and alkali it forms:
a. Soap b. Emulsion
¢. Foam d. All of the above

7. The distance between one base pair to another in a DNA molecule is:

a. 20 A° b. 34 A®
c. 34 A° d. 2A°
8. To inhibit an enzyme action uncompetitive enzyme inhibitor binds with:
a. Active site of the enzyme b. Substrate body
c. Enzyme’s body d. None of the above

9. If the product of an enzymatic step can inhibit the earlier step of that enzyvme, then the
inhibition is called as:

a. Competitive inhibition b. Uncompetitive inhibition
¢. Non competitive inhibition d. None of the above
10. Which one is the vegetable enzyme?
a. Papain b. Pepsin
c. Ptyvalin d. Erepsin
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